College Algebra — Joysheet 4 Name: Sa'“’a &W
MAT 140, Spring 2025 — D. Ivansié Covers: 1.5, 1.6

Show all your work!
Solve the inequalities. Write your solution in interval notation.
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3. (6pts) Find the domain of the function in interval notation: f(z) = ﬁ :
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4. (14pts) Landscaping services Bob's Dirt and Duncan’s Lawns are offering spring yard
cleanup services. Bob’s Dirt charges $50 plus $45 per hour and Duncan’s Lawns charges
- $200, which includes the first three hours, plus $35 per hour for every hour after the first

three. Assuming your yard needs at least three hours of work, for which number of hours is
Duncan’s Lawns the better option? Solve as an inequality.
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5. (l4pts) The distance between Murray and Nashville is 121 miles. Celia drives from
Murray towards Nashville. Driving along the same road and starting at the same time, her
friend Dana drives from Nashville towards Murray, driving 4mph [aster than Celia. After 55
minutes, they meet on the road.

a) How fast was each of them driving?

b) How far from Murray did the friends meet? -
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6. (l4pts) Friends Tim, Josh and Kathy go out to lunch and split the total cost of $28.68.
Tim pays four fifths of the amount Josh pays and Kathy pays $1.25 more than Tim. How
much did each of them pay?
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